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Use the diagram to answer Questions 14 and 15.

This diagram is used in designing an information system.
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14  The following symbol appears in the diagram on page 8.

What
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Customer
account

does this symbol represent?

A process
A data flow
A data store

An external entity
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Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 12.8 2.6 04 0 0
B 10.6 2.6 0.6 0 0
D 36.6 23.9 124 3 1.8
N 0.4 0 0 0 0

Question 14

|

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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